1 2 3 4
M1 #4 screw, 3/8" M5 #4 lock washer M9 #4 nut M13 #4 screw, 3/8" M28  #4 lock washer M32 #4 nut
\ | | \ \
M2 #4 screw, 3/8" M6 #4 lock washer M10 #4 nut M14 #4 screw, 3/8" M29  #4 lock washer M33 #4 nut
\ | | \ \ |
M3 #4 screw, 3/8" M7 #4 lock washer M11 #4 nut M15 #4 screw, 3/8" M30  #4 lock washer M34 #4 nut
\ | | \ \
M4 #4 screw, 3/8" M8 #4 lock washer M12 #4 nut M16 #4 screw, 3/8" M31  #4 lock washer M35 #4 nut
\ | | \ \
McMaster-Carr McMaster-Carr McMaster-Carr
90272A108 91113A005 90480A005
J1 J2 U2 U3 H1 Handle, 1.25" El #4-40 3/16" flat E23  #4-40 3/16" flat
MS-E connector MS-E connector Harmonics Generator Interface Board Low Noise Power \ \
Digi-Key Digi-Key LIGO LIGO H2 Handle, 1.25" E2 #4-40 3/16" flat E24  #4-40 3/16" flat
MS3102E12S-3S-ND ~ MS3102E12S-3S-ND D1002738-v1 D0901846-D \ \
Mouser E3 #4-40 3/16" flat E25  #4-40 3/16" flat
534-9106 \ | |
<+ o o o [H <+ o ™ o o H3 Ferrule E4 #4-40 3/16" flat E26  #4-40 3/16" flat
>L >L >L >L H4 Ferrule E5  #4-403/16"flat ~ E27  #4-40 3/16" flat
\ \
H5 Ferrule E6 #4-40 3/16" flat E28  #4-40 3/16" flat
S1 \ | |
H6 Ferrule E7 #4-40 3/16" flat E29  #4-40 3/16" flat
S2 \ \
Mouser E8 #4-40 3/16" flat E30  #4-40 3/16" flat
- 534-9121 \ \
o ‘E9 #4-40 3/16" flat ‘E31 #4-40 3/16" flat
[z
M17  #6-32 1/4" flat E10  #4-40 3/16" flat E32  #4-40 3/16" flat
\ \
M18  #6-32 1/4" flat E11  #4-40 3/16" flat E33  #4-40 3/16" flat
L1 ® L1 [ [
M19  #6-32 1/4" flat E12  #4-40 3/16" flat E34  #4-40 3/16" flat
s1 \ | |
M20  #6-32 1/4" flat E13  #4-40 3/16" flat E35  #4-40 3/16" flat
= [ = \ \
3 ) 3 M21  #6-32 1/4" flat E14  #4-40 3/16" flat E36  #4-40 3/16" flat
U1 . U4 \ \
Snap-in LED REBCTSTTED Snap-in LED M22  #6-32 1/4" flat E15  #4-403/16" flat  E37 #4-40 3/16" flat
Digi-Key Digi-Key \ | \ |
350-2127-ND 350-2127-ND M23  #6-32 1/4" flat E16  #4-40 3/16" flat E38  #4-40 3/16" flat
\ \
McMaster-Carr E17  #4-40 3/16" flat E39  #4-40 3/16" flat
91099A205 \ \
E18  #4-40 3/16" flat E40  #4-40 3/16" flat
L 1 L 1 L 1] \ | \
PN1 PN3 PN4 S1A  Faston terminal M24  #6-32 3/8" flat E19  #4-40 3/16" flat E41  #4-40 3/16" flat
1U chassis Front Panel Rear Panel \ \
LIGO LIGO LIGO S1B  Faston terminal M25  #6-32 3/8" flat E20  #4-40 3/16" flat E42  #4-40 3/16" flat
D070012-A D1002736-v1 D1002737-v1 \ \
S1C  Faston terminal M26  #6-32 3/8" flat E21  #4-40 3/16" flat E43  #4-40 3/16" flat
\ | |
S1D Faston terminal M27  #6-32 3/8" flat E22  #4-40 3/16" flat E44  #4-40 3/16" flat
\ \
PN2 Newark McMaster-Carr McMaster-Carr
Cable, 1 pair, shielded J3 J4 90F3729 91099A215 91771A111
Newark MS-E connector MS-E connector
02F6071 Digi-Key Digi-Key
MS3106E12S-3P-ND MS3106E12S-3S-ND
Title
S1-S4 cables External cable -
Harmonics Generator Power Supply
Size Number Revision
A D1002735
Date: 10/18/2010 [ Sheet1of 1
File: C:\Users\..\HarmonicsGenSupply1.SchDog Drawn By: Daniel Sigg

3

4




